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ISO -11110fp 	  51TfrIlanli 	 A01,61;  
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fie[0 - 1,1111V fp 	  5 Vrrilifl i9r fl II -1 	  A D141/1 .... 

1. 91duquigutInnfluvik larlAl2,4'411NM141_kilt111,1)1k41:14TIAJUMIJP13.161I1Al IMUT1M1,1,NUJITIN 

thntl_11,141-MaLlrlt.1 	 (7 fir, 661114) 
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A 
95D -11111frfp 	  51:f Milliifili 1 	 AMA .... 

2. 91auquillmena4LarwiilvalmiumowZglarActimmi919Jilmil,nlh'L'Ll11119195,11M 1"19n al 
L1  er 

firlAtth11.1r1MYI,Mt11,11_11 a:',1:1ArY1M block diagram Lwimmiquthr,nfluArm (7Atutiu) 
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9S0 1411Ifffp 	  1   Mal ..... 

3. Find the transfer function C(8)  by simplifying the block diagram below. 	(8 Atiltiti) 
R(s) 

poomm■41111.mwall, 

H2 
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21 
O —1413JVIV 	  

4. From the mechanical system diagram below, find the transform function 
X(s)  

F(s) 

Assume all initial condition = 0. 	 (10 AZ11,1.11.1) 
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2i 	 1 950 - 1-1111rffp 	  511r111fillif1 li 1 	  91 0 LI 1/1 . . .... 

5. Find the equation which represents the relation between E1  and E2 of the following 

Electrical system diagram. 	 (7 At MAI) 
L
i 

7/10 



A 40 - 1.411Jfirfp 	  IliirCafiiifilil 	  9101411 .... • • 

6. Solve the following differential equation using Laplace transform. 

y(t) = 	 . f (t) 
D23D + 5 

+6D+8 

Given f (t) = 2e-3' 
	

and all initial condition = 0 	 (10 Fainni) 
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A 	 .1 
950 —1,111JVfp 	  liTricangnv -1 	  VID1-111 ...... 

7. Tzutinfninpna4sfluktari4valtripriAratimpi2itkntuAgENtinnivi6nk APIQUP,111(0.MMirl 

(Thermostat Controller) 7r1AmquPpALC1521 (Furnace gas valve) az,-wrichmT11.191 614 (Furnace) 911,61M4 

Block diagram tatifilltrlYNTZLII1Mr171rIPIT13A61,1thfrlt.111713AliflifIriklviluLtalrnzumlal r uTtuumquP13.1 

6-111433 '')I-JaeAlTlin9u9-1rinquufln (Heat loss) VirjtavitTrilli 	 (6 At 111,11.1) 
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-14111rifp 	  51111Ictflgfl111 	  91D1,11/ 	•• 

8. 11451:1_11g191JTJA711,11101Yalntnilk113.11511LLMAT13-1K3.11/T1-46:1/111P1161,1A111K141illi'llT14 (input) 1TIJI.71 

1M1ZIJA11411 91T1M311LLOMMT1141.11ATT,12:',VillP1711,1a9 (output) riu fi IMILIAM1r11MTP1LIALItl 

	

11111) Transient 	steady state 11 al2:51JU 
	

(5 AZ661411) 

v 
INPUT (011111141110011,1111114,110 

NEW STATE 

pri  

INITIAL STATE 
TIME 
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